PRECUNTA |

: A080-1850
NM [0.“] e :(2.'45
N : MN-0 } donde el
¥ 1050-1W0 _ 53 LD
TVM %[L\ M= _,________\ E

SERDE D{‘%@Q:O s

‘ ' Mnen
LN ERTYE _,__—_\tﬁ?;\m 25

_1080-0% - _yg
Tm{ Laoan = e E . e

T g Lo = 1090-1040

B) & man renkable eU}mdodﬂlaoXLéﬁca, wousn () ongpa oL apial
oo mdn dopisa ;B D23

PREGUNTA 2 - % \
3 _h = A
' WH\\\ ) (k) +LUn)-A )
) ¥m=m &:o .
}Ahllf?l\’r}'{r‘-ih/()‘( ol HO) _ 04626
~’\flf—"o \r\-*o y{

b) kG YQ(,\"A P.U.Y\\'prm\dLQn‘Q 3—-\30: m (x-)co\

m=fi=6 \] o-li= 6(xA)
P(A, W)= P(AY) \ ,5:_5::{‘

) I‘rm:x"whxf-\., PARABOLA
= ‘07 ex-0 - Rean

opongah: Puntosde e
X=0 = ‘ﬁz;\ U%'ﬂ
w=0 = xlilx-1=0

yeieva | -4t 5 -uls
e S =

s
-EUS (5
2 uesiA



